Solution problems #1


Name ______________________________

_____________ 1. A solution of calcium nitrate, Ca(NO3)2, contains 2.05 g of solute in 252 g of water.  What is the molality?

_____________ 2.  What is the mass of water in a 2.5 m solution of calcium nitrate if the mass of the solute is 8.2 g?

_____________ 3.  A solution of NaNO3 contains 34 g of solute dissolved in 100 g of water.  What is the molality of the solution?

_____________ 4.  What mass of AgNO3 has been dissolved in 200 g of water if the molality of the solution is 0.300 m?

_____________ 5.  What is the molality of a solution made from 31 g of NaCl and 559 g of water? 

_____________ 6.  2.3 g of ethanol (C2H5OH) is added to 500 g of water.  Determine the molality of the resulting solution.

_____________ 7.  What is the molality of a solution in which 49 g of H2SO4 is dissolved in 250 g of water?

_____________ 8.  Determine the mass of water to which 293 g of NaCl is added to obtain a 0.25 molal solution?

_____________ 9.  Calculate the molarity of a solution containing 10.0 g of sulfuric acid in 500 mL of solution.

_____________ 10.  Calculate the weight in grams of sulfuric acid in 2.0 liters of 0.100 molar solution.

_____________ 11.  Each liter of human blood serum contains about 3.4 g of sodium ions.  What is the molarity of Na+ in human blood serum?

_____________ 12.  What mass of calcium bromide is needed to prepare 150 mL of a 3.5 M solution?

_____________ 13.  A chemist wants to dilute 50 mL of 3.50 M H2SO4 to 2.0 M H2SO4.  To what volume must it be diluted?

_____________ 14.  250 mL of 5 M HCl is diluted to a volume of 780 mL.  What is the new concentration? 
